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FA S B
I F2AH SEANEH
chol: BEE Y (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJted A= F A2 24l 9,090
OLXA & 18,000
HMERH 2= 2,167,810 1,766,640 401,170
= 109,900
=S 1,342,269
Al 715,641
HERH 23 2,167,810 1,766,640 401,170
= 109,900
= 1,342,269
Al 715,641
NHAESZEH - 0IZAIL (S0 MSYEZZX) = 1,257,000 849,500 407,500
HEALY)
== 1,042,750
Al 214,250
201 2= 22,000 8,000 14,000
[ 16,500
Al 5,500
01 At22t2lt] 14,000 8,000 6,000
OME 22X 233H| 14,000
= 10,500
Al 3,500
02 S3=gHl 8,000 0 8,000
OdEi2& X =Xl 8,000
=S 6,000
Al 2,000
206 M=l 8,000 8,000 0
< 6,000
Al 2,000
01 MZH| 8,000 8,000 0
Odef22X 28 Ml 8,000
= 6,000
Al 2,000
301 EtE2 NS 7,000 0 7,000
=S 5,250
Al 1,750
14 0Bt 2as 7,000 0 7,000
Odtf2a 23It 23| 7,000
< 5,250
Al 1,750
307 glztol & 20,000 12,000 8,000
= 15,000
Al 5,000
02 2IZHBYAIHE A 20,000 12,000 8,000




FA S
M MHH ES
Selr X - MEH 23 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdEH22X NEESSH 243t 20,000
= 15,000
Al 5,000
401 AIEHIX 20HH 1,200,000 800,000 400,000
=S 1,000,000
Al 200,000
01 AlZ8| 1,195,000 800,000 395,000
OMEf2E X X 1,195,000
< 995,850
Al 199,150
03 Al 20HHI 5,000 0 5,000
OdEH22X =& AIES0H| 5,000
= 4,150
Al 850
OrYSSTISHO A (EX) 8,000 22,180 14,180
= 4,000
= 1,334
Al 2,666
402 212t X201 & 8,000 10,380 N2,380
= 4,000
& 1,334
Al 2,666
02 QI X2 AL EE(0IETHE) 8,000 10,380 A2,380
OO SE TIGHMI LAY 8,000
= 4,000
[ 1,334
Al 2,666
bl S 2T/ K 0fl 2 AH (RHAI) 47,200 52,200 A5,000
201 er23 | 8,200 8,200 0
01 At2teltl 7,200 7,200 0
OO0 S22 AtHl Meldl(25HI28) 7,200
02 S3=gHl 1,000 1,000 0
OOtdS= AtHl MEAIE 22l 1,000
301 EtE NS 39,000 39,000
14 0Bt 2a s 39,000 39,000
Osxg SiloMss 78 B3
200,000& x1200t2| 24,000
Osf= RililtdsS=S 22 243
30,0002 =4000t2| 12,000
Osf= Rillltds= 22 243
5,000& »6000t2| 3,000
OIS ESTHEAAMA(EX) 11,000 11,000 0
< 1,100
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Ofl &F2H

MEE
Ofl &k2h
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1,100
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=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 26,892
Al 62,748
MERH wEtME XA (EX) 20,000 20,000 0
= 10,000
< 6,000
Al 4,000
401 AIZHIZL SO 20,000 20,000 0
= 10,000
== 6,000
Al 4,000
01 Al&HI 20,000 20,000 0
OHE A wetdE EXIAHY 20,000
= 10,000
=S 6,000
Al 4,000
MERH wetME EIXIAR (XEA) 11,760 11,760 0
401 AlEHIZL SO 11,760 11,760
01 Al&HI 11,760 11,760
OMEHH wetd=E EX 11,760
AZF 2 HAM Xl 11,800 0 11,800
= 5,900
[ 1,770
Al 4,130
201 el 11,800 0 11,800
= 5,900
s 1,770
Al 4,130
01 At2t2l] 11,800 0 11,800
OAIZMF % HIAH Xeld] 11,800
= 5,900
= 1,770
Al 4,130
ol OrMSZ2 JIIIA X2 AH 1,050 0 1,050
& 315
Al 735
402 QI2F X201 & 1,050 0 1,050
= 315
Al 735
02 QI X2 AL EE(0IETHE) 1,050 0 1,050
ORoll OrlisS= JILIA XI2AS 1,050
= 315
Al 735
NHHEHH S (A =& SHALY) 60,000 60,000 0
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crell Xt - ME ©5

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 12,000
Al 48,000

307 lztol & 32,000 32,000 0
= 6,400
Al 25,600

02 2IZHBYAIHE X 32,000 32,000 0
OFUEENGE S 32,000
= 6,400
Al 25,600

401 Al HIZ R 0HbI 28,000 28,000 0
< 5,600
Al 22,400

01 Al&H| 28,000 28,000 0
Ookg=d S 28,000
= 5,600
Al 22,400

OHerdcl Ol def - 23S 550,000 50,000 500,000
= 250,000
Al 300,000

401 Al HIZ S 0HbI 550,000 50,000 500,000
s 250,000
Al 300,000

01 Al&HI 550,000 50,000 500,000
Odnt=dlZd =RAl2el & B 50,000
OdtHed o2z &ddelg 24 500,000
= 250,000
Al 250,000

HILg 2l 46,854,432 32,843,142 14,011,290
= 26,490,673
) 129,800
& 7,547,122
Al 12,686,837

CHOI1 2L X 46,389,182 32,208,592 14,180,590
= 26,428,673
S 7,499,222
Al 12,461,287

HIISEX FUHXRA(S3) 279,000 275,000 4,000
= 29,000
Al 250,000

405 AHaHE = 279,000 275,000 4,000
= 29,000
Al 250,000

01 ML ESF SHI 279,000 275,000 4,000
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=aak

B2}
oIy 22
CH1 @ =8|

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMIIESER 7 XNA(B3)
55,800, 000 *5CH 279,000
= 29,000
Al 250,000
HIISEX FOHXIA(22) 5,158,400 6,240,000 A1,081,600
= 2,337,400
= 846,300
Al 1,974,700
402 2IZtA=01d 5,158,400 6,240,000 21,081,600
= 2,337,400
S 846,300
Al 1,974,700
02 QI X2 AL EE(0IETHE) 5,158,400 6,240,000 /1,081,600
OTIIXSIE FOHXIH (LR E)
12,800, 0002 *403CH 5,158,400
= 2,337,400
& 846,300
Al 1,974,700
HI1E2S R FOHKIR(E3) 370,000 320,000 50,000
= 110,000
Al 260,000
405 AtatE = 370,000 320,000 50,000
= 110,000
Al 260,000
01 TR =S FSHI 370,000 320,000 50,000
O&IIGtSxt 204 XI&(33)
37,000,000 * 10CH 370,000
= 110,000
Al 260,000
HI1St2S R FORKIR(812) 8,100,000 9,900,000 1,800,000
= 4,950,000
< 945,000
Al 2,205,000
402 QI2F X201 & 8,100,000 9,900,000 1,800,000
= 4,950,000
== 945,000
Al 2,205,000
02 SIINEANSEX(0IETHR) 8,100,000 9,900,000 1,800,000
O&IIstES Rt oK (212
18,000,000 +450CH 8,100,000
= 4,950,000
== 945,000
Al 2,205,000
HIIHA 204 K& 700,000 1,120,000 420,000
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X XH -
o=

B2}

o128 2l

Chel: I EX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 360,000
=S 105,000
Al 245,000
402 2I2FXH=201& 700,000 1,120,000 420,000
= 350,000
= 105,000
Al 245,000
02 QI XHZ AL E R (01X THE) 700,000 1,120,000 420,000
OXIIHA FOHXIZ 700,000
oEH A~ 140,000, 0002 =5CH 700,000
= 350,000
= 105,000
Al 245,000
SII0IEX E=AHS 426,000 320,000 106,000
= 148,000
Al 278,000
402 212 X201 & 426,000 320,000 106,000
= 148,000
Al 278,000
02 QI X2 AL EE(OIETHE) 426,000 320,000 106,000
OTII0IEX B2 At (2124
1,600,000 *185CH 296,000
= 148,000
Al 148,000
OXII0IEXt BS A (212F)('23. AlbI) 130,000
ZIIXSIH STAIE 2l 181,000 102,000 79,000
201 =3 181,000 102,000 79,000
01 At2t2lt] 1,000 2,000 A1,000
OXIINSAt ESAtE & 874 2=
NES 1,000
2 s5=34l 180,000 100,000 80,000
OMIINSA SESHI| |AI2elHI(2371) 180,000
=A% ES At (B2t 4,140,000 2,760,000 1,380,000
= 2,700,000
= 720,000
Al 720,000
402 2IZtA=01d 4,140,000 2,760,000 1,380,000
= 2,700,000
= 720,000
Al 720,000
02 QI X2 AL E (01X THE) 4,140,000 2,760,000 1,380,000
O=AXt FOKIH(DL2E2)
34,500,000 «120CH 4,140,000
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2A:

X ZH -
o=

B2}

o128 2l

el tIEEX (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 2,396,500
=S 718,950
Al 1,677,550
14 0Bt 2as 4,793,000 5,912,431 21,119,431
OL=ERI RIHIX &AL 4,793,000
= 2,396,500
= 718,950
Al 1,677,550
AR HIEA LML (2 MSHEXI) 228,000 0 228,000
= 114,000
= 34,200
Al 79,800
402 2I2FX=01 & 228,000 0 228,000
= 114,000
= 34,200
Al 79,800
02 QI 2 AL EZ(0IETHR) 228,000 0 228,000
OS2 MZoi£X 228,000
ODPFS & 3,300, 0002 *60CH 198,000
= 99,000
= 29,700
Al 69,300
olEStESA HS3t X
15,000,000 »2CH 30,000
= 15,000
= 4,500
Al 10,500
AR HELA ML (HEIIH HBHEX) 916,000 0 916,000
= 547,600
= 110,520
Al 257,880
402 2I2FX=01 & 916,000 0 916,000
= 547,600
S 110,520
Al 257,880
02 QI X2 AL E (01X THE) 916,000 0 916,000
OAEIIA MSHEXI 916,000
oA &I Al DPFEE 11,000,000 1CH 11,000
= 6,600
= 1,320
Al 3,080
od &I AN WA 16,500, 0002 *50CH 825,000
= 495,000




2A:

X XH -
o=

B2}

o128 2l

Chel: I EX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 99,000
Al 231,000
oJ=F)| 28 20,000,000 1CH 20,000
= 10,000
< 3,000
Al 7,000
odRANX HS3H(elELEEEI)
30,000,000 1CH 30,000
= 18,000
& 3,600
Al 8,400
oA HS3HelS0I2bHE2l)
30,000,000 = 1CH 30,000
= 18,000
= 3,600
Al 8,400
IHEE NsAE2d 25AHY 120,000 410,000 290,000
= 72,000
= 14,400
Al 33,600
402 2IF X201 & 120,000 410,000 £.290,000
= 72,000
< 14,400
Al 33,600
02 QI T2 AL EE (01X THE) 120,000 410,000 290,000
ONEE M=2 22 B5Ag 120,000
OSENS 600,000 *200CH 120,000
= 72,000
< 14,400
Al 33,600
23012 JWEX ds7A2 38,346 25,305 13,041
= 19,173
< 5,752
Al 13,421
402 QI2F X201 & 38,346 25,305 13,041
= 19,173
== 5,752
Al 13,421
02 I EASEZ(0IETHR) 38,346 25,305 13,041
OE3J12t B ds7il2 38,346
= 19,173
= 5,752
Al 13,421




2A:

X XH -
o=

B2}

o128 2l

o2l DI Y (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOIXSIH SEA SetatZ X Jtolict &X 50,000 50,000

401 Al HIZL 201 50,000 50,000
01 Al&HI 50,000 50,000
ORISR SFL SEAAX SHiH2t
=X 50,000
A3 = 25 A 100,000 100,000
402 2I2F X201 & 100,000 100,000
02 BIENZASEZ (01 THR) 100,000 100,000
O3Sk 22 A ('23.AlHI) 100,000
CIXE &&d =X 22 19,800 19,800 0
201 2egh=3| 19,800 19,800
02 S5=24g4l 19,800 19,800
OUXE &3 X8 dIIes 3,000
OtXg && 5X& sl 16,800
ot =: N 1,800
otiXg SJHEXE SN2 15,000
HleE=32 wi 150,000 0 150,000
= 75,000
=S 37,500
Al 37,500
401 AIEHIZ SR THYI 150,000 0 150,000
= 75,000
= 37,500
Al 37,500
01 A28l 150,000 0 150,000
otea=sdgd WA 150,000
= 75,000
= 37,500
Al 37,500
OINEX S AHIA 2] 16,300 16,300
201 ZBt=3hl 16,300 16,300
02 S3=gHl 16,300 16,300
OOINIEX £EAHIA 23| 11,300
OOIMIZX LEMHIA FRE= 5,000
HILE=3Y 2 205,336 205,336 0
= 61,600
Al 143,736
201 er2 3| 198,336 198,336 0
= 59,500
Al 138,836
02 S3=gl 198,336 198,336 0
oJlea=s8ey 28N 198,336
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X XH -
o=

B2}

o128 2l

Chel: I EX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 59,500
Al 138,836
202 04l 7,000 7,000 0
= 2,100
Al 4,900
01 2L AL 7,000 7,000 0
OJIed=dy 2888 2 USES S 7,000
=S 2,100
Al 4,900
SHIlNESES 465,250 634,550 169,300
= 62,000
Jl 129,800
= 47,900
Al 225,550
EAMQIEN I QIMEIE XIS 239,300 206,000 33,300
Il 119,600
< 47,900
Al 71,800
301 EtE NS 239,300 206,000 33,300
Il 119,600
== 47,900
Al 71,800
14 JIEt2 8= 239,300 206,000 33,300
OBAZOIERN JHot= IMEIE XIS 239,300
Jl 119,600
=S 47,900
Al 71,800
ASxt BAEQIER HEIE Xs 20,400 13,000 7,400
7l 10,200
Al 10,200
301 EtE NS 20,400 13,000 7,400
Il 10,200
Al 10,200
14 DBt 23 20,400 13,000 7,400
OXSA BAZQIEN IHEIE XIZ 20,400
) 10,200
Al 10,200
JIZHS NS 1,000 1,000 0
201 et 3| 1,000 1,000
01 At22t2l] 1,000 1,000
OBAEQIE S22 MA 1,000
24 JtA HHES2 1 ekl 80,550 80,550 0
201 er23| 40,550 40,550 0




FA S H
B Oplog 22
Belr JISHsiESESs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 40,550 40,550 0
O2&8tA BHE HAN SNA BS+=8 20,000
O2&8tA BIEA AN BHESE AZ A=A
adSTTE 20,000
O24JtA BHEAAE Hald| 550
207 ARl 40,000 40,000
01 HESHI 40,000 40,000
O2&0tA HIE2 M BHIA &d &
HsE4 20,000
O24JtA HHEAIcHH tHES2AE A A
A4 2 H=sEd 20,000
JIZEsE HAASKE KA 124,000 200,000 AT76,000
= 62,000
Al 62,000
402 2I2E X201 & 124,000 0 124,000
= 62,000
Al 62,000
02 QI X2 AL EE(OIETHE) 124,000 0 124,000
OXZHIE SHAH(BRE) 124,000
= 62,000
Al 62,000
FEHE 2L 5,081,500 6,661,670 21,580,170
= 700,000
=S 140,000
Al 4,241,500
RN HEHeIIsES 4,081,500 6,661,670 A2,580, 170
== 140,000
Al 3,941,500
S =UH-ESKCAE 4,000,000 6,626,670 A2,626,670
< 140,000
Al 3,860,000
307 glztol & 4,000,000 6,514,000 A2,514,000
= 140,000
Al 3,860,000
05 2I2tRIE S 4,000,000 6,514,000 /2,514,000
OJ=2aXcAE 2 UGS 4,000,000
= 140,000
Al 3,860,000
S IIEER 28 2 MAESEED 40,000 35,000 5,000
307 @I2t01 & 40,000 35,000 5,000
02 LB AANHEE 40,000 356,000 5,000
OS5+ SZ2Al 40,000
SN =S SHIAE (KHA) 41,500 0 41,500




FA S
B Loy
o9l FREMHAH2IISEY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
305 Hia =S 21,500 21,500
01 b= S 21,500 21,500
OZALUEE FA A5 BE ASBH| 21,500
401 AIEHIX R0 20,000 20,000
01 A28l 20,000 20,000
OJI=2h ESHEIAME BIEd A 20,000
AHHEX =ZH2F AL ol 1,000,000 0 1,000,000
= 700,000
Al 300,000
AUM=IMMAET] ASHFAIE £X 1,000,000 0 1,000,000
= 700,000
Al 300,000
401 AlZHIZ SO 1,000,000 0 1,000,000
= 700,000
Al 300,000
01 Al&H| 1,000,000 0 1,000,000
O2et =IMHER 2ENFAIE £X 1,000,000
= 700,000
Al 300,000
22XE 28 & o4 6,060,000 9,625,000 A3,565,000
= 4,350,000
Al 710,000
H 1,000,000
S2=2XNG S A 6,060,000 9,625,000 A3,565,000
< 4,350,000
Al 710,000
H 1,000,000
ANA MEioH SEAY 20,000 45,000 25,000
401 Al HIZL S 0HHI 20,000 45,000 25,000
01 Al&HI 20,000 45,000 225,000
O=1nH MeisXsI2el (S0, A0l
s) 20,000
MEt=HI0I2=8s SdAY 90,000 80,000 10,000
401 AIZHIZ SO 90,000 80,000 10,000
01 Al&H| 90,000 80,000 10,000
ottole=ag sil2el (201,88 S) 70,000
OS2 SUH E(XS) SAt 20,000
NASZEE - O|SAIZ(MEtSHIOIQEEE ) 28 (A& 1,200,000 1,000,000 200,000
Ared)
[ 600,000
Al 600,000
401 AlEHIZL SO 1,200,000 1,000,000 200,000
= 600,000




FA S
g 239 283 i
ol S sliah AL (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 600,000
01 AlZ2H| 1,200,000 1,000,000 200,000
OXcigtd 28 - 0ISAE =4 1,200,000
s 600,000
Al 600,000
2SS SLUIA HSAY 4,750,000 0 4,750,000
& 3,750,000
H 1,000,000
401 AlZHIZL RO 4,750,000 0 4,750,000
= 3,750,000
H 1,000,000
01 Al&H| 4,750,000 0 4,750,000
O2Z =Y SHIEM HLAE(E=X) 4,750,000
= 3,750,000
H 1,000,000
EFFUTNJ(BE2EUS) 9,804,102 11,642,837 1,838,735
= 7,650,000
Jl 280,000
Al 1,874,102
SOt AN S FHas A 9,363,442 11,006,517 1,643,075
= 7,650,000
Al 1,713,442
ook Aat=4K S=EEDIE Mel HEd 9,289,300 10,928,600 A1,639,300
= 7,650,000
Al 1,639,300
201 er2 3| 9,289,300 10,928,600 1,639,300
= 7,650,000
Al 1,639,300
01 AtR2t2|HI 9,289,300 10,928,600 1,639,300
OHits22X 28HDIE XMl HE 9,289,300
= 7,650,000
Al 1,639,300
SAHIUS S 2el 74,142 77,917 A3,775
101 @124H| 42,892 41,867 1,025
M ORIMZZ2NSE S 42,892 41,867 1,025
Ogttld s 5S4 F2etd 2A3A 42,892
ollZ2= (L2
80,3202 x2&H*187 30,040
oJl2s(FL2RA)
80,3203 x 1 »82&! 6,587
oraERLsE 80,3203 »2& 302 6,265
201 Ler23| 28,250 32,050 A3,800
01 At2teltl 26,330 30,130 A3,800
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